

**SYMMETRY IDENTITIES OF q -BERNOULLI POLYNOMIALS OF
THE SECOND KIND**

Dae San Kim* and Taekyun Kim**

*Department of Mathematics, Sogang University, Seoul 121-742,
Republic of Korea

**Department of Mathematics, Kwangwoon University, Seoul 139-701,
Republic of Korea

e-mails: dskim@sogang.ac.kr, tkkim@kw.ac.kr

(Received 3 January 2014; accepted 24 February 2014)

In this paper, we give identities of symmetry for the q -Bernoulli polynomials which are derived from the symmetric properties of the p -adic invariant integrals on \mathbb{Z}_p .

Key words : q -Bernoulli polynomial of the second kind; identity of symmetry.

1. INTRODUCTION

Let p be a fixed prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will, respectively, denote the ring of p -adic rational integers, the field of p -adic rational numbers and the completion of algebraic closure of \mathbb{Q}_p . Let v_p be the normalized exponential valuation of \mathbb{C}_p with $|p|_p = p^{-v_p(p)} = p^{-1}$. Let q be an indeterminate in \mathbb{C}_p with $|1 - q|_p < p^{-\frac{1}{p-1}}$. The q -number of x is defined by $[x]_q = \frac{1 - q^x}{1 - q}$. Note that $\lim_{q \rightarrow 1} [x]_q = x$. As is well known, the Bernoulli polynomials are defined by the generating function to be

$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \tag{1}$$

(see [1-14]).

When $x = 0$, $B_n = B_n(0)$ are called the Bernoulli numbers.

By (1), we easily get

$$(B + 1)^n - B_n = \delta_{1,n}, \quad B_0 = 1, \tag{2}$$

with the usual convention about replacing B^n by B_n (see [1-14]).

Let $UD(\mathbb{Z}_p)$ be the space of uniformly differential functions on \mathbb{Z}_p . For $f \in UD(\mathbb{Z}_p)$, the p -adic integral on \mathbb{Z}_p is defined by

$$I_0(f) = \int_{\mathbb{Z}_p} f(x) d\mu_0(x) = \lim_{N \rightarrow \infty} \frac{1}{p^N} \sum_{x=0}^{p^N-1} f(x). \quad (3)$$

For $f_1(x) = f(x+1)$, we have

$$I_0(f_1) = I_0(f) + f'(0), \quad (4)$$

where $f'(0) = \left. \frac{df(x)}{dx} \right|_{x=0}$ (see [7, 9]).

Let us take $f(x) = e^{tx}$. Then, by (4), we get

$$\int_{\mathbb{Z}_p} e^{tx} d\mu_0(x) = \frac{t}{e^t + 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!}. \quad (5)$$

By (5), we get

$$\int_{\mathbb{Z}_p} e^{t(x+y)} d\mu_0(y) = \frac{t}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}. \quad (6)$$

Thus, from (5) and (6), we have

$$\int_{\mathbb{Z}_p} (x+y)^n d\mu_0(y) = B_n(x), \quad \int_{\mathbb{Z}_p} x^n d\mu_0(x) = B_n, \quad (7)$$

where $n \geq 0$ (see [1-16]).

Let $f_n(x) = f(x+n)$, for $n \in \mathbb{N}$. Then we have

$$\int_{\mathbb{Z}_p} f_n(x) d\mu_0(x) = \int_{\mathbb{Z}_p} f(x) d\mu_0(x) + \sum_{l=0}^{n-1} f'(l). \quad (8)$$

The q -Bernoulli numbers of the second kind are defined by Kim as follows :

$$\int_{\mathbb{Z}_p} [x]_q^n d\mu_0(x) = \beta_{n,q} \quad \text{for } n \geq 0. \quad (9)$$

The q -Bernoulli polynomials of the second kind are also defined by Kim as follows :

$$\int_{\mathbb{Z}_p} [x+y]_q^n d\mu_0(y) = \beta_{n,q}(x), \quad n \geq 0, \quad (10)$$

(see [7]).

Thus, we note that

$$\beta_{0,q} = 1, \quad (q\beta_q + 1)^n - \beta_{n,q} = \frac{\log q}{q-1} \delta_{1,n},$$

with the usual convention about replacing β_q^n by $\beta_{n,q}$ (see [7, 8, 9, 11]).

From (10), we note that

$$\begin{aligned} \beta_{n,q}(x) &= \int_{\mathbb{Z}_p} [x+y]_q^n d\mu_0(x) \\ &= \sum_{l=0}^n \binom{n}{l} q^{lx} \int_{\mathbb{Z}_p} [y]_q^l d\mu_0(y) [x]_q^{n-l} \\ &= \sum_{l=0}^n \binom{n}{l} q^{lx} [x]_q^{n-l} \beta_{l,q}. \end{aligned} \tag{11}$$

In [4], several identities of symmetry for the Bernoulli polynomials are given by (5) and (6).

In this paper, we investigate several further interesting properties of symmetry for the p -adic invariant integral on \mathbb{Z}_p and give identities of symmetry for the q -Bernoulli polynomials of the second kind.

2. IDENTITIES OF SYMMETRY FOR q -BERNOULLI POLYNOMIALS

By (10), we easily get

$$\beta_{n,q}(x) = \frac{\log q}{q-1} \frac{1}{(1-q)^{n-1}} \sum_{l=0}^n \binom{n}{l} (-1)^l \frac{l}{[l]_q} q^{lx}, \tag{12}$$

where $n \geq 0$ (see [7-9]).

Let w_1, w_2 be natural numbers. Then we see that

$$\begin{aligned} &\frac{1}{w_1} \int_{\mathbb{Z}_p} e^{[w_1 w_2 x + w_2 j + w_1 y]_q t} d\mu_0(y) \\ &= \lim_{N \rightarrow \infty} \frac{1}{w_1 w_2 p^N} \sum_{i=0}^{w_2-1} \sum_{y=0}^{p^N-1} e^{[w_1 w_2 x + w_2 j + w_1(i+w_2 y)]_q t}. \end{aligned} \tag{13}$$

From (13), we have

$$\begin{aligned} &\frac{1}{w_1} \sum_{j=0}^{w_1-1} \int_{\mathbb{Z}_p} e^{[w_1 w_2 x + w_2 j + w_1 y]_q t} d\mu_0(y) \\ &= \lim_{N \rightarrow \infty} \frac{1}{w_1 w_2 p^N} \sum_{j=0}^{w_1-1} \sum_{i=0}^{w_2-1} \sum_{y=0}^{p^N-1} e^{[w_1 w_2 x + w_2 j + w_1(i+w_2 y)]_q t}. \end{aligned} \tag{14}$$

By the same method as (14), we get

$$\begin{aligned} & \frac{1}{w_2} \sum_{j=0}^{w_2-1} \int_{\mathbb{Z}_p} e^{[w_1 w_2 x + w_1 j + w_2 y]_q t} d\mu_0(y) \\ &= \lim_{N \rightarrow \infty} \frac{1}{w_1 w_2 p^N} \sum_{j=0}^{w_2-1} \sum_{i=0}^{w_1-1} \sum_{y=0}^{p^N-1} e^{[w_1 w_2 x + w_1 j + w_2(i+w_1 y)]_q t}. \end{aligned} \quad (15)$$

Therefore, by (14) and (15), we obtain the following theorem.

Theorem 1 — Let $w_1, w_2 \in \mathbb{N}$. Then we have

$$\begin{aligned} & \frac{1}{w_1} \sum_{j=0}^{w_1-1} \int_{\mathbb{Z}_p} e^{[w_1 w_2 x + w_2 j + w_1 y]_q t} d\mu_0(y) \\ &= \frac{1}{w_2} \sum_{j=0}^{w_2-1} \int_{\mathbb{Z}_p} e^{[w_1 w_2 x + w_1 j + w_2 y]_q t} d\mu_0(y). \end{aligned}$$

Corollary 2 — For $n \geq 0$, we have

$$\begin{aligned} & \frac{[w_1]_q^n}{w_1} \sum_{j=0}^{w_1-1} \int_{\mathbb{Z}_p} \left[w_2 x + \frac{w_2}{w_1} j + y \right]_{q^{w_1}}^n d\mu_0(y) \\ &= \frac{[w_2]_q^n}{w_2} \sum_{j=0}^{w_2-1} \int_{\mathbb{Z}_p} \left[w_1 x + \frac{w_1}{w_2} j + y \right]_{q^{w_2}}^n d\mu_0(y). \end{aligned}$$

Therefore, by (10) and Corollary 2, we obtain the following theorem.

Theorem 3 — For $n \geq 0$, we have

$$\begin{aligned} & \frac{[w_1]_q^n}{w_1} \sum_{j=0}^{w_1-1} \beta_{n, q^{w_1}} \left(w_2 x + \frac{w_2}{w_1} j \right) \\ &= \frac{[w_2]_q^n}{w_2} \sum_{j=0}^{w_2-1} \beta_{n, q^{w_2}} \left(w_1 x + \frac{w_1}{w_2} j \right). \end{aligned}$$

From (10), we can derive the following equation :

$$\begin{aligned} & \int_{\mathbb{Z}_p} \left[w_2 x + \frac{w_2}{w_1} j + y \right]_{q^{w_1}}^n d\mu_0(y) \\ &= \sum_{i=0}^n \binom{n}{i} \left(\frac{[w_2]_q}{[w_1]_q} \right)^i [j]_{q^{w_2}}^i q^{w_2(n-i)j} \int_{\mathbb{Z}_p} [w_2 x + y]_{q^{w_1}}^{n-i} d\mu_0(y) \\ &= \sum_{i=0}^n \binom{n}{i} \left(\frac{[w_2]_q}{[w_1]_q} \right)^i [j]_{q^{w_2}}^i q^{w_2(n-i)j} \beta_{n-i, q^{w_1}}(w_2 x). \end{aligned} \quad (16)$$

Thus, by (16), we get

$$\begin{aligned} & \frac{[w_1]_q^n}{w_1} \sum_{j=0}^{w_1-1} \int_{\mathbb{Z}_p} \left[w_2x + \frac{w_2}{w_1}j + y \right]_{q^{w_1}}^n d\mu_0(y) \\ &= \sum_{i=0}^n \binom{n}{i} \frac{[w_1]_q^{n-i}}{w_1} [w_2]_q^i \sum_{j=0}^{w_1-1} [j]_{q^{w_2}}^i q^{w_2(n-i)j} \beta_{n-i, q^{w_1}}(w_2x) \\ &= \sum_{i=0}^n \binom{n}{i} \frac{[w_1]_q^{n-i}}{w_1} [w_2]_q^i T_{n,i}(w_1|q^{w_2}) \beta_{n-i, q^{w_1}}(w_2x), \end{aligned} \tag{17}$$

where

$$T_{n,i}(w|q) = \sum_{j=0}^{w-1} q^{(n-i)j} [j]_q^i$$

(see [11]).

By the same method as (17), we get

$$\begin{aligned} & \frac{[w_2]_q^n}{w_2} \sum_{j=0}^{w_2-1} \int_{\mathbb{Z}_p} \left[w_1x + \frac{w_1}{w_2}j + y \right]_{q^{w_2}}^n d\mu_0(y) \\ &= \sum_{i=0}^n \binom{n}{i} \frac{[w_2]_q^{n-i}}{w_2} [w_1]_q^i T_{n,i}(w_2|q^{w_1}) \beta_{n-i, q^{w_2}}(w_1x). \end{aligned} \tag{18}$$

Therefore, by (17) and (18), we obtain the following theorem.

Theorem 4 — For $n \geq 0$, we have

$$\begin{aligned} & \frac{1}{w_1} \sum_{i=0}^n \binom{n}{i} [w_1]_q^{n-i} [w_2]_q^i T_{n,i}(w_1|q^{w_2}) \beta_{n-i, q^{w_1}}(w_2x) \\ &= \frac{1}{w_2} \sum_{i=0}^n \binom{n}{i} [w_2]_q^{n-i} [w_1]_q^i T_{n,i}(w_2|q^{w_1}) \beta_{n-i, q^{w_2}}(w_1x). \end{aligned}$$

REFERENCES

1. M. Cenkci, V. Kurt, S. H. Rim, and Y. Simsek, On (i, q) Bernoulli and Euler numbers, *Appl. Math. Lett.*, **21**(7) (2008), 706-711.
2. J. Choi, T. Kim, and Y. H. Kim, A note on the extended q -Bernoulli numbers and polynomials, *Adv. Stud. Contemp. Math. (Kyungshang)*, **21**(4) (2011), 351-354.
3. D. Ding, and J. Yang, Some identities related to the Apostol-Euler and Apostol-Bernoulli polynomials, *Adv. Stud. Contemp. Math. (Kyungshang)*, **20**(1) (2010), 7-21.

4. D. S. Kim, N. Lee, J. Na, and K. H. Park, Abundant symmetry for higher-order Bernoulli polynomials (I), *Adv. Stud. Contemp. Math. (Kyungshang)*, **23**(3) (2013), 461-482.
5. D. S. Kim, and T. Kim, *Symmetry p -adic invariant integral on \mathbb{Z}_p for q -Euler polynomials*, (communicated), 2014.
6. G. Kim, B. Kim, and J. Choi, The DC algorithm for computing sums of powers of consecutive integers and Bernoulli numbers, *Adv. Stud. Contemp. Math. (Kyungshang)*, **17**(2) (2008), 137-145.
7. T. Kim, On explicit formulas of p -adic q - L -functions, *Kyushu J. Math.*, **48**(1) (1994), 73-86.
8. T. Kim, On a q -analogue of the p -adic log gamma functions and related integrals, *J. Number Theory*, **76**(2) (1999), 320-329.
9. T. Kim, q -Volkenborn integration, *Russ. J. Math. Phys.*, **9**(3) (2002), 288-299.
10. T. Kim, A family of (h, q) -zeta function associated with (h, q) -Bernoulli numbers and polynomials, *J. Comput. Anal. Appl.*, **14**(3) (2012), 402-409.
11. T. Kim, Sums of powers of consecutive q -integers, *Adv. Stud. Contemp. Math. (Kyungshang)*, **9**(1) (2004), 15-18.
12. T. Mansour, M. Shattuck and C. Song, A q -analog of a general rational sum identity, *Afr. Mat.*, **24**(3) (2013), 297-303.
13. H. Ozden, I. N. Cangul and Y. Simsek, Remarks on q -Bernoulli numbers associated with Daehee numbers, *Adv. Stud. Contemp. Math. (Kyungshang)*, **18**(1) (2009), 41-48.
14. H.-K. Pak and S.-H. Rim, q -Bernoulli numbers and polynomials via an invariant p -adic q -integral on \mathbb{Z}_p , *Notes Number Theory Discrete Math.*, **7**(4) (2001), 105-110.
15. J.-W. Park, D. V. Dolgy, T. Kim, S.-H. Lee, and S.-H. Rim, A note on the modified Carlitz's q -Bernoulli numbers and polynomials, *J. Comput. Anal. Appl.*, **15**(4) (2013), 647-654.
16. S.-H. Rim, A. Bayad, E.-J. Moon, J.-H. Jin, and S.-J. Lee, A new construction on the q -Bernoulli polynomials, *Adv. Difference Equ.*, **34** (2011), 6.
17. Y. Simsek, Twisted (h, q) -Bernoulli numbers and polynomials related to twisted (h, q) -zeta function and L -function, *J. Math. Anal. Appl.*, **324**(2) (2006), 790-804.